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Function02 Answers for No.9004
Ansl > green

black

gray

blue

yellow

red

NOT on the line

ON the line

NOT on the line

ON the line

ON the line

ON the line

NOT on the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[.1=[y=18000+40x]]

d=[y=4x+170] 2=[y=120x]
Ansd = 3 x , Ans5=[1_[y_1530x+17000]}, Ans6=| .4=[Loss:240] | Ans7=[.2=[67]]
2=|y=""1+9600 2=27710
50 5=[225]

|.6=[y=18000 - 80 x].
DG R=Te (CHE NIV D 9:0:9:9.9:9:9:0.9:9.0.9:0:0.9.0.0.0:0:0.0.9:0.9:0:9.0.9:9.0.9:0:0.0.0.0.0:9:0.0.9.0.9:0:0.0.9.9.0.9:0.0.0:0.0.0:9:0.0.9.0.0:0:0.0.9.9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.9.0.9:0.0.9:0.0.0.9:0.0.0.4




D ERVERHNCIVISENED $.9:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0 ¢ Y FET I T o F A S ET 0 N0 10 [ 012570 ¢

Function02 Answers for No.9033
Ansl > red

green

yellow

blue

gray

black

NOT on the line
ON the line

ON the line

NOT on the line

NOT on the line

NOT on the line
ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[.1=[y=22000+ 60 x]

2=[y=150x]
.Iz[y:2860x+26000]}
X = = = ° = =
'2:[y=—+6600 , Ans) [ 2 =40300 , Ans6=| .4=[Loss:1210] | Ans7=[.2=[65]]

20 5 =[245]

|.6=[y=22000 - 90 x].
DG R=Te (CHENN IR D 9:0:9:0.9.9:9:0.9:9.0.9:0:0.9.0.0.0:0:0.0.9:0.9:0:9.0.9:9.0.9:0:0.0.0.0.0.9:0.0.9.0.9:0:9.0.0.9.0.9:0.0.0:0.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.9.0.0:0:0.0.9.0.0.0:0.0.9.0.0.0.9:0.0.0.4

A=[y=3x+150]
Ans4 =
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Function02 Answers for No.9237
Ansl > black

blue

gray

red

green

yellow

NOT on the line

NOT on the line
ON the line

ON the line

ON the line

ON the line

NOT on the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

(.1 =[y=18000+ 60 x]]

J=[y=3x+190] 2=[y=130x]
Ansd = 3x , Ans5=['1_[y_1440x+18000]}, Ans6=| .4=[Loss:430] | Ans7=[.2=[61]]
2=|y="—"—1+7700 2 = 33840
100 5 =[258]

|.6=[y=18000 - 70 x]
DG R=-Te ICHE NIV H D 9:0:9:0.9:9:9:0.9:9.0.9:0:0.9.0:9.0:9:0.0.9:0.9:0:9.0.9:9.0.9:0.:0.0.0.0.0.9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9:0.0.0:9:0.0.0.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.9.0.0:0:0.9:0.0.0.9:0.0.04
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Function02 Answers for No.9286

Ansl > gray

blue

yellow

green

red

black

ON the line

NOT on the line

ON the line

NOT on the line

ON the line

ON the line

ON the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

1 =[y=22000+50x] |

J=[y=6x+170] 2=[y=170x]
Ansd = 3x , Ans5=['1_[y_2400x+24000]}, Ans6=|  .4=[Loss: 2801 | Ans7=[.2=[67]]
2=|y=""1+9100 2 = 50400
50 5=[184]

|.6=[y=22000— 120 x]_
DG R=-Te ICHE NN VIVIIX S I 9:0:9.:0.9.9:0:0.9:9.0.9:0:0.9.0.0.0:0:0.0.9:0.0:0:9.0.9:9.0.9:0.0.0.0.0.0.9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9:9.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.9.0.0:0:0.0.0.0.0.0:0.0.0.4
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Function02 Answers for No.9604
Ansl > black

yellow

green

blue

gray

red

ON the line

NOT on the line
ON the line

NOT on the line

NOT on the line
ON the line

NOT on the line
ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=17000+60x] |
2=[y=180x]

=| 4=[Profit:1720] |, Ans7=[.2=[45]]

5=[142]

L.6=[y=17000 - 120 x]_
DG R=Te (CHE NN IVISH D 9:0:9:9.9:9:9:0.9:9.0.9:0:0.9.0.0.0:0:0.0.9:0.9:0:9.0.9:9.0.9:0.:0.0.0.0.0.9:0.0.9.0.9.0:9.0.9.9.0.9:0.0.9:9.0.0:9:0.0.9.0.9:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0:9.9.0.9:0.0.0.0.0.0.0:0.0.0.4

I=[y=4x+180]
y=2090 x + 19000]}, st

d=]
= 3x =
Ansd .2={y=5_0+ 8200}’ Ans3 [ 2 =31540
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Function02 Answers for No.9635
Ansl > yellow

gray

red

blue

black

green

NOT on the line
ON the line

ON the line

NOT on the line
ON the line

ON the line

ON the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

1 =[y=22000+30x] |

2=[y=180x]
B .1:[y=1000x+20000]} ~ - . o
'2:[y=i+7900}’ Am_[ 2=29000 , Ans6=| 4=[Profit: 1250] |, Ans7=[.2=[45]]

25 S5=[147]

|.6=[y=22000— 150 x]_
X [Page = 0006] XXXXXXXXXXXXXXXXKXKXXXKXXKXXXXXKXKXXXXKXKXKXKXKKXKXKXKK KX KKXKXK KK KXKXKK KK KKXKK KKK KKK KKK KXKK KKK KKK K KK KKKK KKK KXKKKK KKK

A=[y=Tx+130]
Ans4 =




D ERVERHNCIVISENED 0.0:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0.:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ Y FET I T oL A L ET O N [0 [ O 706

Function02 Answers for No.9770
Ansl > yellow

blue

gray

black

green

red

ON the line

ON the line

NOT on the line

NOT on the line

NOT on the line
ON the line

ON the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

1 =[y=18000+60x] |

v — 2=[y=170x]

}, Ans5=['1_[y_21_262(;g6321000]}, Ans6 = A=[Loss:620] |, Ans7=[.2=[69]]
o 5=[164]

|.6=[y=18000—110x].
DG R=Te (CHE NIV R IND 9:0:9:0.9.9:9:0.9:9.0.9:0:0.9.0.0.0:0:0.0.9:0.9:0:9.0.9:9.0.9:0:0.0.0.0.0:9:0.0.9.0.9:0:0.0.9.9.0.9:0.0.9:0.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0:0.0:0:0.0.9.0.0.9:0.0.0.0.0.0.0:0.0.0.4

A=[y=4x+150]

= 3x
Ansd .2:[y:—+6900
50




X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK KKXXKXKKXMS /2-6300402-00008XX

Function02 Answers for No.9799
Ansl > green

black

blue

gray

yellow

red

NOT on the line
ON the line

ON the line

ON the line

NOT on the line

NOT on the line
ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[.1=[y=22000+70x]]

d=[y=4x+190] 2=[y=160x]
Ansd = 3 x , Ans5=|:']_[y_1050x+15000]}, Ans6=| .4=[Loss:850] | Ans7=[.2=[84]]
2=|y=""1+7200 2= 24450
50 5=[245]

|.6=[y=22000 - 90 x]
DG R=-Te (CHE NN VIVI2 N IND 9:0:9.:0.9:9:9:0.9:9.0.9:0:0.9.0:0.0:9:0.0.9:0.9:0:9.0.9:9.0.9:0:0.0.0.0.0.9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9.9.0.0:9:0.0.0.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.9.0.0:0:0.9.0.0.0.0:0.0.0.4
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Function02 Answers for No.9824
Ansl > yellow

green

red

black

blue

gray

ON the line

ON the line

NOT on the line
ON the line

ON the line

ON the line

NOT on the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

1 =[y=22000+30x] |
d=[y=Tx+160] 2=[y=130x]
Ansd = 3x , Ans5=['1_[y 1400“14000]}, Ans6=| .4=[Profit: 100] |, Ans7=[.2=[42]]
2=|y="=1+6100 .2=29400
50 5=[220]

|.6=[y=22000 - 100 x]_
X [Page = 0009] XXXXXXXXXXXXXXXXKKXXXXXXXXXXKXKXKKXKXKXKXKKKKXKXKXKK KX KKXKX KKK KKK KKK KKXKK KKK KKK KKK KXKK KKK KKK K KK KKKK KKK KKK K KKK




X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX XXX KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK KKXXKKXXKXKXKXMS /2-6300402-00010XX

Function02 Answers for No.9853
Ansl > green

blue

red

yellow

gray

black

ON the line

ON the line

ON the line

NOT on the line
ON the line

ON the line

NOT on the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=17000+30x] |

A=[y=5x+190] 2=[y=150x]
A=[y= 1800x+20000]}
Ans4 ‘2:{)}: X +7600}’ Ans5 [ 3210000 , Ans6 A4 =[Profit : 1600] |, Ans7=[.2=[49]]

100 S5=[142]
L.6=[y=17000 — 120 x].
X [Page = 0010] XXXXXXXXXXXXXXXXXKXXXXXXXXXXKXKXXXKXKXKXKKXKKXKXKXKK KX KKXKXK KK KXKXKK KK EXKXKK KKK KKK KKK KKK KKK KXKKK KK KKK K KKK KXKKKK KKK




D ERVERHNCIVISENED $.0:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0.:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9.:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0 ¢ Y FET I T oL A 2 ET O N [ O N R D70 ¢

Function02 Answers for No.9936
Ansl > yellow

black

red

gray

green

blue

NOT on the line

NOT on the line
ON the line

ON the line

ON the line

NOT on the line

NOT on the line
ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

1 =[y=22000+40x] |

2=[y=140x]
B .1:[y=1450x+29000]} ~ 3 . o
'2:[y=i+9700}’ Am_[ 2=36250 , Ans6=| 4=[Profit:200] | Ans7=[.2=[83]]

20 5=[220]

|.6=[y=22000— 100 x]_
DG R=Te (CHE NN RN IND 9:0:9:0.9:9:9:0.9:9.0.9:0:0.9:0.9.0:0:0.0.9:0.9:0:9.0.9:9.0.9:0:0.0.0.0.0.9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9.9.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0:0.0:0:0.0.9.0.0.0:0:0.0:0.0.0.9:0.0.0.4

A=[y=3x+180]
Ans4 =
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Function02 Answers for No.10029
Ansl > red

gray

blue

yellow

green

black

NOT on the line

ON the line

NOT on the line

ON the line

NOT on the line

ON the line

ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=23000+50x] |
d=[y=3x+160]

- 2=[y=160x]
s — .1—[y—1960x+28000]}’ st

7 x Ans5:[ =| .4=[Profit: 650] Ans7 =[.2=[53]]
2= =——+8700 || .2=39760 ’

{y 100 } 5=[210]

.6 =[y=23000—-110x]]
X [Page SIS’ 0:9.9.0:0:9.0.0:9.0.0:0.9.0:0:0.0.0:0:0.0:0:9.0.0.9.0.0:0:0.0:0:0.0.0:0.0.0:0.9.0.0.0.0.0:0:0.0:0.0.0.0.0.0.0:0:9.0.0.0.0.0:0.0.0:0.0.0.0.0.9.0:0:0.0.0.0.0.0:0.9.0:0.0.0.0:0.0.0:0:0.0.0.0.0.0:0:0.¢
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Function02 Answers for No.11015

Ansl > gray

red

yellow

green

blue

black

ON the line

NOT on the line

ON the line

ON the line

NOT on the line

ON the line

NOT on the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

1 =[y=18000+60x] |

v — 2=[y=170x]

, Ans5=['1_[y_1960x+28000]}, Ans6=| .4=[Profit: 1690] |, Ans7=[.2=[49]]
2= 49560 S [164]

|.6=[y=18000—110x].
DG R=-Te (CHE NNV ONECH D 9:9:9:9.9:9:9:0.9:9.0.9:0:0.9.0.0.0.:9:0.0.9:0.9.0:9.0.9:9.0.9:0.0.0.0.0.0.9:0.0.9.0.9.0:9.0.9.9.0.9:0.0.9:0.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.0.0.9:0.0.0:0.0.0.9:0.0.0.4

J=[y=5x+140]

= 3x
Ansd .2:[y:—+7600
50




X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX XXX KKK KKK KKK KKK KKK KKK KKK KKK XXX XXX KKK KKXXXKXXKXKXKXMS /2-6300402-00014XX
Function02 Answers for No.11124

Ansl > red

gray

yellow

green

black

blue

ON the line

ON the line

NOT on the line

NOT on the line

ON the line

NOT on the line

ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=18000+50x] |

A=[y=6x+180] 2=[y=180x]
1 =[y=1900x + 19000]}
Ans4 ‘2:{)}: x+7400}, AnsS [ 2232300 , Ans6 4 =[Loss : 60] , Ans7=[.2=[80]]

100 S5=[139]
L.6=[y=18000— 130 x]
DG R=-Te ICHE NNV R/ NI 9:0:9:0.9.9:0:0.9:9.0.9:0:0.9.0.0.0:9:0.0.9:0.0.0:0.0.9:9.0.9:0:0.0.0.0.0.9:0.0.9.0.9.0:9.0.9.9.0.9:0.0.9.9.0.0:9:0.0.9.0.9:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.0.0.0:0:0.9.0.0.0.9:0.0.0.4




D ERVERHNCIVISENED $.9:0:0.0:0:0.0.0:0.0.0:0.0.0:0.0:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0 ¢ Y FET J T oL A L ET O N [ O N N5D 06
Function02 Answers for No.11785

Ansl > red

black

yellow

green

blue

gray

ON the line

NOT on the line

NOT on the line

ON the line

NOT on the line

ON the line

ON the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ . 1=[y=20000+40x] |

d=[y=4x+190] 2=[y=140x]
Ansd = 3Ix : Ans5:[1‘[y‘ZOOO“zOOOO]}, Ans6=| .4=[Profit- 15001 |, Ans7=[.2=[53]]
2=| y ="+ 7600 2= 36000
100 5=[200]

L.6=[y=20000— 100 x].
DG R=-Te [CHE NI ONECH D 9:0:9:0.9:9:9:0.9:9.0.9:0:0.9:0.9.0:9:0.0.9:0.9.0:9.:0.9:9.0.9:0:0.0.0.0.0:9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9:9.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.9.0.0:0:0.0.9.9.0.9:0.0.9.0.0.0.9:0.0.04
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Function02 Answers for No.11787

Ansl > red

green

black

blue

gray

yellow

NOT on the line

ON the line

NOT on the line

ON the line

ON the line

NOT on the line

ON the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=17000+30x] |

2=[y=160x]
B .Iz[y:1620x+18000]} ~ 3 . o
'2:[3’=i+6200}’ Am_[ 2=26100 , Ans6=|  4=[Loss:1920] | Ans7=[.2=[50]]

20 S=[131]
L.6=[y=17000 - 130 x]_
X [Page = 0016] XXXXXXXXXXXXXXXXKKXXXXXXXXXXKXKXXXXKXKXKXKXKKXKXKXKK KX KKXKXK KK KXKXKK KK KKXKK KKK KKK KKK KKK KKK KKK K KK KKK K KKK KXKKK KKK

A=[y=4x+170]
Ans4 =




X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXKXXXXX XXX XXX XXX XXX XXX KKK KKK KKK KKK XXX KKK KKK KKK KKK KKK KKK KKXXXKXXKXKXKXMS /2-6300402-00017XX
Function02 Answers for No.11852

Ansl > yellow

red

blue

black

green

gray

NOT on the line

NOT on the line

ON the line

ON the line

NOT on the line

ON the line

ON the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=22000+60x] |

2=[y=180x]
1 =[y=1200x+ 15000]}
7 = = = N = =
'2:{y=_x+6100}’ Ans3 [ .2=25800 , Ans6 4=[Loss :880] |, Ans7=[.2=[66]]

100 S=[184]
L.6=[y=22000— 120 x].
DG R=Te (CHE NI ON R IND 9:0:9.:0.9.9:9:0.9:9.0.9:0:0.9.0.0.0:9:0.0.9:0.0:0:9.0.9:9.0.9:0:0.0.0.0.0:9:0.0.9.0.9.0:9.0.9.9.0.9:0.0.9:9.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.0.0.0:0.0.0:0.0.0.9:0.0.0.4

A=[y=5x+180]
Ans4 =




X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK XXX KKK KKXXKKXXKXKXMS /2-6300402-00018XX
Function02 Answers for No.11898

Ansl > black

gray

yellow

red

green

blue

ON the line

NOT on the line

ON the line

ON the line

ON the line

ON the line

ON the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[.1=[y=22000+50x]]

d=[y=6x+150] 2=[y=140x]
Ansd = 3x : Ans5=[1_[y_2420x+22000]}, Ans6=| 4=[Loss:1030] | Ans7=[.2=[48]]
2=|y=""1+8300 2=34100
50 5=[245]

|.6=[y=22000 - 90 x]
DG R=Te (CHE NI R IND 9:0:9:0.9:9:0:0.9:9.0.9:0:0.9.0.0.0:9:0.0.9:0.9:0:9.0.9:9.0.9:0:0.0.0.0.0:9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9:9.0.0:9:0.9.9.0.0:0:0.0.9:9.0.9:0.0.9.0.0.0:9:0.0.0:0.0:0:0.0.9.0.0.0:0.0.9:0.0.0.9:0.0.04
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Function02 Answers for No.11909

Ansl > yellow

green

blue

red

black

gray

NOT on the line

ON the line

ON the line

ON the line

NOT on the line

NOT on the line

ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=23000+40x] |

2=[y=150x]
.]=[yzl470x+21000]}
7 = = = N = =
'2:{y=_x+8600}’ Ans2 [ 2=37170 , Ans6=| .4=[Profit: 1310] |, Ans7=[.2=[54]]

100 S5=[210]
L.6=[y=23000-110x].
DG R=-Te ICHESNVIONECE D 9:0:9:0.9:9:9:0.9:9.0.9:0:0.9.0.0.0:0:0.0.9:0.0:0:9.0.9:9.0.9:0.:0.0.0.0.0:9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.0:0.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0:0.0:0:0.0.9.9.0.0:0:0.0.0.0.0.9:0.0.0.4

A=[y=6x+170]
Ans4 =




X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX XXX KKK KKK KKK KKK KKK KKK KKK KKK KKK XXX KKK KKK XKXXKXKKXMS/2-6300402-00020XX
Function02 Answers for No.11944

Ansl > yellow

blue

red

gray

green

black

ON the line

ON the line

ON the line

NOT on the line

ON the line

ON the line

NOT on the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=17000+30x] |

A=[y=6x+180] 2=[y=130x]
.1=[y=1870x+17000]}
Ans4 ‘2:{)}: x+9200}, AnsS [ 2926350 , Ans6 A4 =[Loss : 600] , Ans7=[.2=[57]]

100 S5=[170]
L.6=[y= 17000 — 100 x]
DG RETe (CHENN IR IND 9:0:9:0.9.9:9:0.9:9.0.9:0:0.9.0.0.0:0:0.0.9:0.9:0:9.0.9:9.0.9:0.0.0.0.0.0.9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.0.0.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0:0.0:0:0.0.9.0.0.0:0.0.0.0.0.0.9:0.0.0.4




X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX KKK KKK KKK KKK KKK XXX KKK KKK KKK KKK XXX KKK KKK KKXXKXKKXMS /2-6300402-00021XX

Function02 Answers for No.11961
Ansl > gray

black

blue

yellow

red

green

NOT on the line

ON the line

ON the line

ON the line

ON the line

ON the line

NOT on the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[.1=[y=17000 + 40 x]

d=[y=4x+170] 2=[y=120x]
Ansd = 3 , Ans5=[1—[y—”lo“moo]}, Ans6=| 4=[Profit: 680] | Ans7=[.2=[69]]
2=|y=—"_+6500 .2=46410
50 5=[213]
|.6=[y=17000 - 80 x].
DG R=Te ICHE NIV N N IND 9:0:9:0.9.9:0:0.9:9.0.9:0:0.9.0.0.0:9:0.0.9:0.0:0:9.0.9:9.0.9:0.:0.0.0.0.0:9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9.9.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.0.0.0:0:0.9.0.0.0.9:0.0.0:4
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Function02 Answers for No.11966

Ansl > green

gray

red

yellow

blue

black

ON the line

ON the line

NOT on the line

ON the line

NOT on the line

ON the line

ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

(.1 =[y=22000+ 60 x]

v — 2=[y=130x]
x , Ans5=['1_[y_1380x+23000]}, Ans6=| .4=[Profit:330] | Ans7=[.2=[60]]
2=|y="—1+10300 .2=31280

20 5=[315]
|.6=[y=22000—70 x]
DG RE-Te ICHEN IV R D 9.0:9.:0.9.9:9:0.9:9.0.9:0:0.9.0.0.0:0:0.0.9:0.0:0:9.0.9:9.0.9:0.0.0.0.0.0:9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9.9.0.0:9:0.0.9.0.0:0:0.0.9.9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.0.0.0:0.0.0:0.0.0.9:0.0.0.4

A=[y=3x+160]
Ans4 =
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Function02 Answers for No.12024

Ansl > black

blue

yellow

green

gray

red

ON the line

NOT on the line

ON the line

NOT on the line

ON the line

NOT on the line

ON the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[.1=[y=18000+ 60 x]]

d=[y=4x+130] 2=[y=150x]
1 =[y=1300x+ 13000]}
Ans4 ‘2:[y: x+10600}, Ans5 [ 526000 , Ans6 4 =[Profit: 7201 |, Ans7=[.2=[55]]

100 5=[200]
|.6=[y=18000— 90 x]]
DG R=Te [CHE VIS D 9:0:9.:9.9.9:9:0.9:9.0.9:0:0.9.0.0.0:0:0.0.9:0.9.0:9.0.9:9.0.9:0.0.0.0.0.0:9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9:90.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:0:0.0.0.0.0:0:0.0.9.0.0.0:0:0.0.0.0.0.0:0.0.0.4




D ERVERHNCIVISENED $.9:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0 ¢ Y FET J T oL A L ET O N0 10 )22 5706
Function02 Answers for No.12045

Ansl > black

gray

green

blue

red

yellow

ON the line

ON the line

NOT on the line

NOT on the line

NOT on the line

ON the line

ON the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

(.1 =[y=22000+ 60 x]

2=[y=150x]
.1:[y=1980x+22000]}
'2:[y= x+6300}’ A [ 2 =35860 , Ans6=| 4=[Profit:410] | Ans7=[.2=[66]]

100 5=[245]

|.6=[y=22000 - 90 x]
DG R=Te ICHE NIV Y S I 9.0:9.:0.9.9:9:0.9:9.0.9:0.:0.9.0.0.0:0:0.0.9:0.0:0:9.0.9:9.0.9:0:0.0.0.0.0:9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9:9.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.9.0:0.0:9:0.0.0.0.0:0:0.0.9.0.0.0:0.0.0.0.0.0.9:0.0.0:4

A=[y=4x+150]
Ans4 =
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Function02 Answers for No.12623

Ansl > green

gray

black

yellow

red

blue

ON the line

ON the line

ON the line

NOT on the line

NOT on the line

ON the line

NOT on the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[.1=[y=19000+ 70 x]]

A=[y=6x+130] 2=[y=150x]
.1=[y=1080x+18000]}
Ansd .2:[y:—x+9200}’ A [ .2 =26640 , Ans6 A4 =Profit- 6001\, Ans7=[.2=[49]]

50 5=[238]
|.6=[y=19000 — 80 x1]
DG RETe [CHE NN D 9:0:9.:9.9.9:9:0.9:9.0.9:0:0.9:0.9.0:9:0.0.9:0.9.0:9.0.9:9.0.9:0.0.0.0.0.0.9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9.9.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.9:0:0.0.9.9.0.0:0:0.0.0.0.0.9:0.0.0.4
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Function02 Answers for No.12915

Ansl > blue

red

gray

yellow

black

green

ON the line

ON the line

NOT on the line

NOT on the line

NOT on the line

ON the line

ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

1 =[y=19000+70x] |

2=[y=170x]
.Iz[y:800x+16000]}
7 = = = : = =
'2:[y=_x+6500} Ans [ 2 = 24000 , Ans6=|  .4=[Profit: 400] | Ans7=[.2=[79]]

100 5=[190]
|6 =[y= 19000 — 100 x]]
DG R=-Te ICHE NIV D 9:0:9.:0.9.9:9:0.9:9.0.9:0:0.9.0.0.0:0:0.0.9:0.0:0:9.:0.9:9.0.9:0.0.0.0.0.0.9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9:0.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0:0.0:0:0.0.9.0.0.0:0:0.0.0.0.0.9:0.0.0.4

A=[y=Tx+170]
Ans4 =




X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX KKK KKK KKK KKK KKK XXX KKK KKK XXX KKK KKK KKK KKK KKXXKXKKXMS /2-6300402-00027XX
Function02 Answers for No.13089

Ansl > gray

black

green

red

yellow

blue

NOT on the line

ON the line

NOT on the line

ON the line

ON the line

ON the line

NOT on the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[.1=[y=21000+50x]]

A=[y=5x+140] 2=[y=120x]
Ansd = 3x , Ans5=|:']_[y_1020x+17000]}, Ans6=|  4=[Loss-490] |, Ans7=[.2=[721]
2= y=""46200 2=25160
50 5=[300]

|.6=[y=21000 - 70 x].
DG R=Te ICHE NI W B D 9.:0:9:0.9.9:9:0.9:9.0.9:0:0.9.0.0.0:0:0.0.9:0.9:0:9.0.9:9.0.9:0.:0.0.0.0.0:9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9.9.0.0:9:0.9.9.0.0:0:0.0.9:9.0.9:0.0.0.9.0.0:9:0.0.9.0.0.0:0.0.9.0.0.0:0.0.0:0.0.0.9:0.0.0.4
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Function02 Answers for No.13101

Ansl > yellow

black

blue

gray

red

green

NOT on the line

ON the line

ON the line

NOT on the line

ON the line

ON the line

ON the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=17000+ 40 x] |

2=[y=140x]
.]z[y:2000x+20000]}
7x = = = N = =
'2:{y=_+8900}’ Ans3 [ 2234000 » Ans6 A4=[Loss:800] |, Ans7=[.2=[59]]

100 S5=[170]
L.6=[y= 17000 — 100 x]
DG RE-Te ICHENI0VA N IND 9:0:9.:0.9.9:9:0.9:9.0.9:0:0.9:0.0.0:9:0.0.9.0.0.0:9.0.9:9.0.9:0.0.0.0.0.0.9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9.9.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.9.0.0:9:0.0.9.0.0:0:0.0.9.9.0.9:0.0.0:0.0.0.9:0.0.0.4

A=[y=4x+140]
Ans4 =
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Function02 Answers for No.13155

Ansl > yellow

gray

red

green

black

blue

NOT on the line

ON the line

ON the line

ON the line

NOT on the line

NOT on the line

ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[.1=[y=20000+ 60 x]]
A=[y=5x+150]

2=[y=130x]
.]=[y:780x+13000]}
7 = = = : = =
'2:[y=_x+7800}’ Ans [ 2=20800 , Ans6=| .4 =[Profit:580] |, Ans7=[.2=[43]]

100 5=1286]

|.6=[y=20000— 70 x]
X [Page = 0029] XXXXXXXXXXXXXXXXKXKXXXXXXXKXXKXKXKXXKKXKXKXKXKXKKXKXKXKK KX KKXKKK KK KXKXK KKK EXKXKK KKK KKK KKK KKK KKK KKK K KK KKK K KKK KXKKKK KKK

Ans4 =




X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXXXKXX XXX XXX XXX KKK KKK KKK KKK KKK XXX KKK KKK KKK XXX XXX KKK KKK XKXXKXKXKXMS/2-6300402-00030XX
Function02 Answers for No.13156

Ansl > blue

yellow

black

red

gray

green

ON the line

ON the line

NOT on the line

NOT on the line

NOT on the line

ON the line

NOT on the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=22000+30x] |

A=[y=3x+180] 2=[y=130x]
J=[y=1320x+ 22000]}
Ansd .2:{)}: x+6300}, AnsS [ 331240 , Ans6 A4 =[Loss :500] , Ans7=[.2=[77]]

100 5=[220]

L.6=[y=22000— 100 x].
DG R=-Te (CHENNVIVCI N IND 9:9:9:9.9:9:9:0.9:9.0.9:0:0.9:0.9.0:9:0.0.9:0.9.0:9.0.9:9.0.9:0:0.0.0.0.0:9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.0:0.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0:0.0.0:0.0.9.0.0.0:0:0.0.0.0.0.9:0.0.0.4
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Function02 Answers for No.13158

Ansl > yellow

gray

green

black

red

blue

NOT on the line

ON the line

NOT on the line

ON the line

ON the line

ON the line

ON the line

NOT on the line
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(.1 =[y=22000+ 70 x]

I=[y=3x+150] 2=[y=130x]
Ansd = 3x : Ans5=['1_[y_1600x+20000]}, Ans6=|  4=[Loss:220] | Ans7=[.2=[501]
2= y=—"- 16400 2= 34400
100 S =[367]

|.6=[y=22000 - 60 x]
DG R=Te (CHE NIV H N IND 9:0:9:9.9.9:9:0.9:9.0.9:0:0.9:0:0.0:9:0.0.9:0.9:0:9.0.9:9.0.9:0:0.0.0.0.0.9:0.0.9.0.9.0:9.0.9.9.0.9:0.0.9.9.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.0.0.9:0:0.0:0.0.0.9:0.0.0.4
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[.1=[y=20000+50x]]

2=[y=120x]
.]=[y:1620x+27000]}

X = = = : = =

‘2:{y=—+74oo , Ans) [ 2=36720 , Ans6=| .4=[Profit:580] | Ans7=[.2=[51]]

25 5=1286]

|.6=[y=20000— 70 x]
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A=[y=Tx+140]
Ansd =
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[ 1=[y=19000+30x] |

A=[y=6x+190] 2=[y=150x]
.1=[y=1260x+18000]}
Ansd .2:{)}: x+9600}, AnsS [ 3219340 , Ans6 4 =[Profit : 440 , Ans7=[.2=[56]]

100 S=[159]
L.6=[y=19000 - 120 x]
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